trunk port 0/1/0
passing vlan 60

SW2-EX-2300

0/1/0
trunk

both trunk ports are
passing vlan 60

SW1-EX2300

interfaces irb.60

address 10.2.2.20/24

Vians MANAGEMENT

{
vlan-id 60;
I3-interface irb.60;
}

0/1/0
trunk

0/0/47
trunk

0/0/15

interfaces irb.60

address 10.2.2.10/24

Vlans MANAGEMENT

{
vlan-id 60;

I3-interface irb.60;

}

Challenge:

SW1 can ping both SRX and SW2.

SW2 and SRX cant ping each other .

SW1 and SRX have full ARPs

but SW2 resolves SW1 ARP only.

SRX

ge-0/0/15
vlan-tagging;
unit 0 {
vlan-id 60;
family inet {
address 10.2.2.1/24;

}
}



